(a)

3 VER-weighted temperature

VER-weighted temperature

—
)
A

BV angular frequency

G;

7 Line of best fit:
y=-0.94-x+200.03

o N A O @

gradient [K km "]

VER-weighted temperature

*

Line of best fit:
y=-0.25-x+0.95

Local time [h]

—
=

—
N
I

Line of best fit:
*, y=-0.78x+195.98

00

©

gradient [K km™]
N

VER-weighted temperature

Local time [h]

*

N
(o]

Line of best fit:
y=-0.04-x+0.26

Local time [h]

23 Line of best fit:

[1/(10%s)]

y = (—4.0x107¢ - x + 2.2) x1072

P ---O-- -0 ---0---C-—-0--—-C---0---0C-—-C-—-O---0----0

e *5°N, 10°E
T *45°N, 10° E

Line of best fit: T
y=(-0.02 x + 2.06) x1072

Q
Ke) T T T 1

-6 -3 0 3 6
Local time [h]

Local time [h]



	Seite 1

